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1 &P IR RO r OFE EZ, KL 0 TRUA(r,0) (7) y=xcosx
ZHREUARYE w THERMEIHLTWS.

(1) ZorE WAt IZBIT2 P OEEE t 2T
xKt.

QjA (8) y = cos’(3z — 2).

(2) KXt DRFD P DL ML 6(t) ZKD K,

(9) y = cos ((3z — 2)).

(3) B(t) RBEFICE X RAD,

2. ROBBOERLZHEE L.
(1) y = sin(3z — 2).

(10) y = esinx'
(2) y = cos(3z — 2).
(3) y = tan(3x — 2). 1+ cosz
(11) y = o
—sinx
sinx
4) y = .
(4)y 1+ coszx
1 (T -
(12) y = —tan (—), (a >0 IFEH)
a a

(5) y = log(cos x).

(6) y = e** cos 3z,




(14) y = log v + Va7 + 1

(15) y = wsinx cos 2x

(16) y = tan™! (erx)




